ooogoog

00 00* (0000 000o0oooon)

ERN

gooo,booobooboboobbooboooboobo. oboobobooboboo
g,ooobooobooboboobboooboobobo,0ooboooboboobD. 0o g,
000 CO0DOO0OO0DO0OO0O A(200800,0000)00000D00OO.

1 DOOoOoooooo
0o00,00000000,00000000000.

00 1.1. 0000000 (M,g) 0 00000000 (Riemannian symmetric space) 0
0000,00000000: YpeM,3s,: M —M:000.

gooooo,booooboboboooobobboooobb. boooobbboooon
o0, jooooooboobobbboog. bbobog, bbb o000oooooooobobobo
0,000000 0000 00000000 (D000O00,0000000000000000
000000O00). 000000,000000000000,000000000000O.

00 1.2. 0000000 (M,g) 000 pe MOOOO,00 s,: M —->MOpOODODO
000 00,0000000:

(1) p0 s, 000000,
(2) s2=1id (00O idOOOOO),
(3) s, 00000 (0DODODODO).

D000000000,p0000 (0000 sy(p)=p)0000,00,
Fix(sp, M) :={x € M | sp(x) = x}
0oo {p}000D000000. 000,p000000DO0O0O s, 0000000,00000.

013. 00 R?0000000O0O0OOO (0000000 0D)0DD0D0D0000,000000
0.0 p0000000 5, 000000000: s,(zx) =2p—2.

* tamaru 0 math.sci.hiroshima-u.ac. jp



000000 (1)00,”00070000000000. 000 0eR200000000, 2-
000000000 s(z,y):=(x,—y) 000000000000, 0000, Fix(s, M) O 2-0
0oo0,{0}000000o0ooooon.

0 1.4. 00 S":={ze€R" ||g/=1} 000000000000000000, 000000
0.0p0000000 5, 000000000: sp(z) =—x+2(z,p)p.

00 S"0000000 s,0,00 000 p0O0000000000O0OO0OOOOOO.

0O 15. 00000000 GOUOOOOOOUOO. OpOOO0O0OOOO s, DOOOOOOODO:
Sp(x)zlmilp-

goooboboooooobooboogo,0bggobobbooooobbbboooobobobo. ooon
O00000000000000.00,000 e00000000 se(z)=2"t00000.0
00000000 pO00000D0O0O,000 Ly:G—-G:2—gx0000,p0 0000
gobooobooboboobo,bo0obboobooboboooo:

$p(®) = Ly o sc 0 Ly-1(x) = pz~'p.

0000000000, 00000000000000000D0O00D (DOOoDOO,00000
000000000000 000O0OO0)oo0n.

2 JO0OoOoOooad

oooo,0000 (M,g)0,000000000D000D000D00O0DODODOO (G,K)OO
goooobodb.boboob,0obbooobooboobob,o0oboobboobbooboo
goooo.

21 0O0O0OO

goooboboooooooboobog,0goggbobboooooboboboooobob. boooon
goooodooooooooo. 0o, MOOO,GOoO0OO0O. OO,

Awt(M):={f: M —-M:000 }.
00000.0000,Auwt(M)00000000O00O0OOO.

00 2.1. 000000 ¢:G — Auwt(M):g— ¢, 0000 GO M OO 00 (action) OO
0,00 GAMDODOO.

0000, MO00000000,GO0O000,Aut(M)0000000000 Isom(M) OO
gbooog,bbogbogd.



0 22. 0000 00000000000 $"00000: ¢y(z):= gz
0000000000000000000000000000,00000000000.

0 2.3. 00000 SLy(R) 0000000000 RH2:={zeC|Im(z) >0} 00000:

az+b
cz+d

a b
g—[c d} 0000, @g(z) =
000000 000000 000.00000,RA?000000000000000O0000.

00 24. GO MOOOO O 000 (transitive) 00, 00000000: Vp,q € M,
g€ G p4(p) =0
0000000000000 0000 (homogeneous space) JO0D. 000000000

0000000000000, 00000000000 (0000000, 00000000000
oooooooo).

0 25. 022000 230000,00000¢0.

00 26. GOO, KOOOOOOQOODO. 0000 GOO0OO0O0OOOOO0O0O: g~ h:&
¢g-'he K. 0DDOOODODODOOO G/~0 GO KOOO OO0 0O0O0O,G/KOOO.

goobooooboobo,ggobooob. oogbb,booobooobboooboboog,
gbogobogooboag.

o0 27 00, M0O000000.0000,

(1) GOUOU 0000 MOOODOOODOODOUODOOOODOO. ODOOO,peMOOOO,
Gp={g€G|p,p)=p} 0000, M=G/G, (000DD0D).

(2) MO GO0O0OO0O0ODO0OOOOOO (DDOO, M =G/K). O0D0O0O,00000 GO
MOODOOO0OO0O0O00: @g(h]) := [gh].

0000000000 G, 0,p00 00000 (isotropy subgroup) 000O. OO0O00O00O
0,00000000000000000.0000000,000000: Vp,ge M, 3ge G :
g 'G,9g=G, (0000,G,0 G, 000).

0 2.8 0000000000000000000: S =0(n+1)/0(n).

000D00o0o000o00oo0O0oO0oO0oO0. 00,000 S"=S0(n+1)/SO(n)D00O00OOO
000 (ooooooooooo).

0 29. 000000000000000000000: RH2 = SLy(R)/SO(2).

gbooboobooobooboboobo,oobbooboooboooo.



0 2.10. 0000000000000000000000: RP™=0(n+1)/0(1) x O(n).

000,00000 0OO,RP":={{cR*'|¢0000000 }000000. 000,
R\ {0} 000000000000000000000: v~w:e3de#£0:v=cw. 0000,

RP" = (R™\ {0})/ ~= 5"/ ~.

22 0O0OO0O0ODOOOOOO

0000,00000000000000000.00,0000000000000 M=G/K
g,0gbuodgboboobogobooboboobob.boobbuodbboobooobuoabn.

00 2.11. 0000000 (M,g) 000,G :=Tsom(M,g)° 0 MODODOOOOOD. 00O
000, Isom(M,g)° O Isom(M,g) 000000000O0.

000 M=R"00000,000 20 p,¢q0000,0000000000,p0 ¢qOODO.
00000 M=S'00000,000 20 p,¢q0000,0 pg000000000,p0 ¢O
00.0000000,00000000000: 00020 p,¢000.00 20000000
000,p0 ¢O000 mO0O0 (000000000000000000,0000000000
0000). 000,mO00000 s, 0 p0 ¢O000.00000000000, Isom(M,g) O
MOOOOODOO0O0O.0000 MOOOO0O00,G000000000.

ooo000o,0000000 (M,g) DOOO0OODOO,M=G/KOODODODOOOOOOO
00.000000,KOOOO oeMOO0ODDOOOD (DODOO,K=G,). 00 GO KO,
gbooogogbogbogon.

00 212 GO000O0O00O, KO GUO0UOO0O0OO0OO. O0OO0O0OO (G,K)D O0ooOooooo
(Riemannian symmetric pair) 00, 00000000:

(1) 0000000 o:G—GO0000: Fix(e,G)° C K C Fix(o,G).
(2) KOoooooo.

000 ¢ O OO (involution) 00, 000000000 c?=id000000000. OO
000000 000000 (Cartan involution) 0O0. 0000, 000 KOOOOOOO
o,0o0o0bo0obooobooboobbo0. oboboobobbooboobbooo, o
goooobogoobog.

00 2.13. 0000000 (M,g) 0000, G:=Isom(M,g)° 00, K00OOOOOOOOO
0O00000,0 (G,K)00000000000.

000, KOOOOODOO o0OO0ODOOO,U00 ¢:G—-GUOOODODODODOODOODODOO:
o(g9):=s.9%,. 00000000000, 00000000000000ODO.



0 2.14. 0 (SL,(R),SO(n)) 000D0000. 0000000 o(g) =tg~ "
0000000000 n=20000,0000 RH2=SLy(R)/SO(2) 00O,

0 2.15. 0 (SO(n+1),80(n)) 000 (SO(n+1),5(0(1) x O(n))) DODODOO0D0. 000D
000 o(g) =L nghn 000 I, :=dag(-1,1,...,1)(0000).

000000000000000000000000000: 8™ =S0(n+1)/S0(n), RP™ =
SO(n +1)/5(0(1) x O(n)).

0 2.16. O (SU(n+1),S(U(1) xU(n))) 0000000. 0000000 o(g) = I1nglin.

000000000 000000 000: CP*:={/cC*'|¢000 1000000 }.0
0O,Crt\{0}00000000000000000: v~w:e3deeC:v=cw. 0000,

CP™ = (C™*\ {0})/ ~= SU(n +1)/S(U(1) x U(n)).

23 U0OO0ODOOOOOO
gboobooob,boobogoboobboooboobbooobn.

oo 2.17. 0 (G, K)O0OODOO0OOOO0OO0OO0O0. 0000 M:=G/KO,G-000000000O
googo,o0boooo.

00000000000.00,00000000,000000¢:G—G00000. 00
0000,00 0:=[000000000000000:
S0 M — M :[g] — [o(g)].
0000, s(0)=0000 2=id000. 0000 pe M OOOOOO,000000000

oo0 (0 1.5)00000000000.002700,G0000 M=G/KOOODOOODO
O0.0000 o0000,p=[gleMO0000O00DO0OODOOOOO:

Sp 1= (g 0860 Py-1.
0 2.18. 00 S' =S0(2)/SO(1) = SO(2)/{e} 0O0DO,0 215000000000000
0:=(1,0) 000000, se(z,y) = (x,—y).

oo0ooodOo,0 1400000000000000.

0 219. 00000000 GO00O00, (GxG,diag(G)) 0000000, 000000,
diag(G) :=={(g,9) | g€ G} 000,0000000 o(g,h):=(h,g) 0OOODODO.

D00 GxGOOOOO0O0 GOOOOO: pgule) :=geh™'. 00DDDDO, G =
G x G/diag(G) 000000. 0000000,0000000000000000 (0 1.5)0
00000000.00,0000000000000000000,0 1.500000000.



0 2.20. O (SO(n),SO(k) x SO(n —k)) 00O (SO(n),S(O(k) x O(n—k))) 00O0O0DDOO.
ogoooooad U(g) = Ik,nfkgfk,nflw aoo Ik,nfk = diag(—lk, 1nfk)-

000 (SO(n),S(O(k) x O(n—k))) 0000000000,00000000 0O0O0:
Gr(R"):={VCR"|VDOkOOOOOO }.

0000 Gi(R*) =RP* L 00,000 (SO(n),S0(k) xSO(n—k) 0000000 DO0O,
0000000000000000000000000.

3 Joboooood

goboboooooboobog,oggobobobboooobobboooobbb. oooon
oooo,0b0bo0obooobooobooo.

31 000

O0o00o00o0oooooooooDooDOo. 00000, 0000 MOODODO,000000
f-M—-ROODOD0DOO0ODOOO0OO0OOODOOOODOO. OO0O0O fO0O0OO0OO0ODOOOO
g, 0bgdbbooobogboobooboooboobboooo.

00 3.1. 0000000000 MO 000 (manifold) 00000,00000 {(Uy,¥a)}
Doooooo:

(1) M = U, Ua,

(2) o : Uy — pa(Uy,) CR*OOO,

(B) UaNUg #0D DD DO, wgopyr!: pa(UaNUg) — ps(UsNUg) O C=.

00000000000 {(Us,9e)} 0 00000 000. 0000 (2)0 nO0000000
000 O000.00(1),(2)00,0000 peMOOD0,000000000000000
000 U, 000000000.00000000000000000.

00 3.2. MOOOO, f:M>ROODOODOOOO. fOpeMO 0000 O0OO0,0000
0000: YU, (peUy), for ™t :pa(Us) =R O po(p) 000D0DOODOO.

oo0ooooooooon f: M —->NOOOOOOO,00000000. 00 31000
(30,00 U0,0000000000000000000O00OOOOOOOOO,O0O00O0
oo0.0000,000000,0000, 0000000000 O000O0O.

03.3.00 S'0100000000.

oo000000,000>0,z<0,y>0,y<00000 4000000000000. O
00,8'0400000000y=+V1-22,2=+4/1—-¢y200000000000000
ooo,0db0bo0bb0o0. bbb booobooobooo.



034. 000U CR*0O C>®-00 f:U—-R™"0000, M :={(z,y) e UxR" |y= f(z)}
UnbO00ooooo.

00000000000,0000000000: o2 M —-U:(z,y)—z 00000 MOO
0O f0000000.000000000000000000000O0O000O0O0O0OOO0O.

00 3.5. 000 UCR"OC™00 F:U—-R"0000,M:={peU|F(z)=0}00
0.00 Vpe M, rank(JF),=k000, M0 n—kD000O0D00OO.

00000 rank(JF), 000000000000, 000,000000000. 000000
0,00000 (F(p)=0)000000,00000 (y=f(x))000,0000000000
000,00000000000000000 (0000000,00 F(z,y)=ax+by+cO0
0O000,000000000).

32 00O
0DO0000,00000000000000.

00 3.6. 00000 GO 000 (Lie group) D00
(1) Go O,
(2) Go ooo,
3)0GxG—G:(g,h)—gh00000 G—G:g—g 000000 C™®.

0 3.7. GL,(R)0 n200000000.

GL,(R)DO0DO0OD,000 Mn(R):Rn2DDDDDDDDD pn?00000000.000
O0000,0000000000D0O000000,CcC*~*00A0.

0 3.8. 0000000 GOUOUODOOUOD (3000 Heisenberg 000 OODO):

1
G:= 0 | z,y,z € R
0

O = 8
— e W

00000000000 R®O000000.0000000,00000000000,0000
gboooobooboobooboboooboooOobOob0.ooo,on0 3hsbOb0bODOb
gboogogbogooboag.

00 3.9. C>°-00 F:GL,(R) - R™0000,G:={geCGL,(R)|F(9)=0} 000000
00.00 Vg e G, dimker(dF),=k000,G0 kO00000OODO.

00000 FOOOODOODOOOO:
2 1
(dF)4 : R"™ —>Rm:XH%in(l)g(F(g—l-tX)—F(g)).

7



O0n=m=1000000000000000.00 XOODOODOOOOODOODOODOO
oooooo. oo, (dF),00000000,0000000000000000000000,,
Jacobi OO (JF), 0OO.O000O0O0OODOODODOODODODOO,

rank(JF), = dim Image(dF), = n® — dim ker(dF),.
000000, 00 350000000000,GUUOUOUOODODDODDOOODOO.
0 3.10. 000 O(n) 0 n(n—1)/200000000.

0000,0(r) 000000 F(9)=tg9—1,0000000000.00000000:

ker(dF). = {X € M,,(R) | X +'X = 0}.

33 0000
coooooboobooboooo.boo,00bo0ooobo0oobooooboog.

00 3.11. 000000 ¢g000000 []:gxg—g000 0000 (Lie algebra) 00,
0oooooo:

(1) O [,JooooDoOO,
(2) 0000 (00D00,VX,Y eg, [X,Y]=-]Y,X]),
(3) 00 JacobiOOODDO (0DDDDO,VX,Y,Z g, [[X,Y], Z]+][Y, Z], X|+[[Z, X],Y] = 0).

0 3.12. 00000O0DO0OD g0, [X,Y]:=0000000000000000000O (DODO
000000 0oo).

0 3.13. gl,(R) := M,(R) 00 [X,Y]:=XY -YX O0OODODDODO0000000 (D00
00000000 0ooo0).

0000,Jacobi 000000000OOD. O0D0D0O0D0OO,00000 GL,(R)ODOO
gooo.ggboboobogoobooboo,ogooooo:

00 3.14. 0000 ¢g000000000 KO0 00000000,00000000:VX,Y €h,
[X,Y]eb.

000000000,0000000 (0000000 U0DO0DO0DO0OD)DO0DO0ODOO.

0 3.15. 00 ¢gl,,(R) 0000000DO00:
(1) sl,(R) :={X e gl,(R) | tr(X)=0} (00D0000OO),
(2) o(n):={Xegl,R) | X+!'X=0}(00000D0).




oooooo, SL,(R) 000 O(n) D0D00O0O0O0OO0OO. O0D0DO0OODO0OOOOOOOO
gboogobd:

00 3.16. GOOO0OOOO. 0000 GOO0OOODOODOOO T.GO0O0O0O00O0O0O0OO.
000000 [,|]000000000000. 00000000000 oooOO:

00 3.17. MOOOOOD,peMOOOD. 000D,
(1) 00 c:(—6,6) = M:C= 0 ¢(0)=p00000,¢0)0 p00 D0DO0O OOO.
(2) MO pOO OO0 DOODOO0O0OO: TyM :={¢0)|c:(—e,e) = M:C*®, ¢(0)=p}.

oooo0,7,MO0000000000,dm7T,M =dimM O00000. 0000,00000
ooooobooboboooboo. obboobooobo,0bo,0boobbboobbooboo
goo.booboboobboob,booboooon:

= X" x? X3
n=0

0 3.18. T.0(n) = o(n).

000,Xe€o0(n)0000,000 ¢(t):=exp(tX)000000DO0. 00 ¢cO O(n)0OOO
DD,é(O):XDDDD.DD,det(exp(X)):etr(X)DDDDDDDDDD,DDDDDDDD
ao:

0 3.19. T,SLy(R) = s, (R).
dooddoodooodooo,d0bod0 FOOODDODOODO.ODOODDOOoOooO:

00 3.20. 000 UcCR*0 C®-00 F:U—-R"0000,M={zeU|F(z)=0}00
00000000.00000000: T,M = ker(dF),.

000000000, F(g)=tgg—1, 000, (dF).(X)='X+X 0000 (0 3.1000).
00000000000000000000000.

D 3.21. 00000 Un) = {g € GL,(C) | 'gg = [,} 000000, 0000000:
u(n) :={X €gl,(C) | 'X + X =0}.

goodoooooo,0ooougogoogog,bboobobobbbbbbbb,000oooobobn
ooooobooooooo.

0 3.22. Heisenberg 0000000000 DOODODO:

| 2,9,z € R

o O O
o o8
o



34 00OO0OOOOO
gooboobogo,boooboobooboon.

00 3.23. J0000O00D0OO0OOUOOU (p,9) 0 000000O0DO 0O0O,00000000:

(1) 00000000 f:g—g00000: 62 =id., t=Fix(4,g).
(2) e0000O00.

000 ¢00000000000,0000 bracket 0000 (ie., 8([X,Y]) = [0(X),0(Y)))
00.000¢0000000000 000000 000. 0000 ¢00000000,00
00000 KO0OODOooooooo.

0 3.24. O (sl,(R),0(r)) 000000000. 0000000 6(X) =—X.
0000000000,0000000 (SL,(R),SO(n)) 00000,

0 3.25. 0 (o(n+1),0(n)) 000000000, 0000000 6(X) =1 ,Xh,, 000
I, =diag(—1,1,...,1) (0O00OD).

000000000000, (SO(n+1),S0(n)) 0000 (SO(n+1),S(0(1) xO(n))) 0D O.
0000000000,0000000000. 00000,00000 (0000000000
0)00000000000000000.

00 3.26. 0 (G,K)0UOOUOOOOOOOO.O0OO0OO,00000000000000 g,¢0
0o00,0 (g, e) 00000000,

0 (G,K)0D0D0DD00000 ¢00000,60=(do). 0 (g,8) 00000000000 OO
0 (do)e 0,0 0000 e0000.000,00000 C®00 f:M—NOOOO, fO
¢eMO0D000,00000000000000:

(df)z : ToM — Ty N : ¢(0) — %(f o ¢)(0).

0 3.27. 0 3.24,3250000000 ¢0,000000000000000000 ¢cOOODO.

35 00OOOOonO
00000000 (g,8) 0000000, 0000 g00O0OO0OO0ODOOOODOODOO,00000.

00 3.28. 0000 gO0ODOO,0000000CODOO0O0O0 g=tep0 000000 OO,
ooboooog:

(1) [&,p] Cp, [p,p)CE (2)¢000D000000O0D0DOD0.
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00 3.29. 00000000 (g,8) 0000,000000 60 (-1)-00000 p0000,
g=tepO0000000000.00,000000 g=¢t®&p0000,0 (g,¢) 000000
oooooo.

goooobooooooobooboooooobooboo. ooobobboooobobobobooooo,on
00000 e#X)=X,—X,000O0O0OD0O0O0.000 X0 X,0,0000 X0OeO0OO p-
goooo.

0 3.30. OO0 (sl,(R),0(n)) 00000000 ¢X)=-'X00000,000000000
00 sl,(R) =o(n) ®{X €sl,(R) | 'X = X}.

gooboo,0bo0bbooobooobooboboobbooboo.

0 3.31. 000 (o(n+m),0(n)@o(m)) 00000000 6(X) = lymXl,,, 00000, 0
0000000000

o(n +m) = (o(n) ® o(m)) @ {( o _E)C ) Ce Mmm(R)}.

0000000000, (o(n+m+1),0(n)®oe(m)@oe(l) 0000000000000 (O
0000000000000D00000).

0 3.32. 000 (su(n),o(n)) 00000000 6(X)=X (0000)00000,00000
000000 su(n) =o0(n) ®{X €sun) | X = -X}.

000 su(n) ={X eu(n) |tr(X) =0} 000 (00D0DO0ODDOOO0OOOO). 00O,
Xeurn)0ODDOOD,X=-X&!X=X0000O0O.

4 JOOdood

goooo,bo0obooobo0obbooboboobboo. oobo,0boboobooboboon
go,b000obgooo,bgoooboog.

41 0O0O0ODOOO

0000 ¢g0000,00000 ¢¢0000.000,0000000000 g¢=gav/—1g
000, bracket 00, g 00000000000000000000000000.

00 4.1. 000000 g=t®p0000,¢ :=ta/—1pO000. 0000 ¢ 0 000
0000000,00000000000000

000,0000000 bracket 0000 (00 [p,p]Cce) 00D00. 00,00 [p,p]ge00
0,00 ¢ 0000000000, 000000000000000 (¢,8)0,00000 (g,8)
0 00 000.00000000,000000,00000000000.

11



0 4.2. 000 (slu(R),0(n)) DO0ODO (su(n),o(n)).

000,00000000000000000,000000000. 0000000,000
00000. 00000000000000000000, SL,(R)/SO(r) 000000000,
SU(n)/SO(n) 00O0OO0O0ODOD0 (000000,00000000000000000).

42 0O0O0O0ODOOOOOO

00000000,000000000000000 KO pOOOUOOUDO (DO)ODODOO
0.00boobobgo,oo0boobboobbooooboog.

00 4.3. (G,K)000O0,g=¢tep00000000000000. 0000,
¢ K — GL(p) : g — @g 1= (dlg)ely

g oogooggoog DDD.DDDDDD,IQ:GﬁG:hthg_l.

00. I,(e)=e000 T.G=9g 00000, I, 0000 (dly)e:g—g000000000
O0.000 p00000000 ¢, 000.000000, (dly).(p)cpOOO0DODODOOOO
000 (e KOOUD). OO p0OD00OD0ODOODO.

00 44. 0 KOOOODOOO VOODOOD,000000 ¢:K—GL(V)OOOO 0DO0O0OO,
000000 00 000.0w0veV 0000, Kv:={p,v)eV|geK}OvO000O KO
oo ooo.

ooobo,KOOOoOoooooooooobooooobobbo.voooboogob,booboo
O00oo0d0o. 0000, Kooooooooooooooog.

0 4.5. 00000 SO(n) —» GL,(R) 000000 (000 00000 000). 000000
0D veR*"000000,00 plOOO.

goooobbobooogog,goooooobbboooooo,ooobobbboooooon
0.00booboboobboooboooobon.

00 4.6. 20000 ¢; : K — GL(V;) (000 +=1,2) 000 00,00000000:
dF:V; =V, : 0000 st. Vge K, Fo(pi)g=(p2)g0F.

00000000,000000000000000.
0 4.7. S =S0(n+1)/SO(n) 00O0O0O00D000000,00000 SO(n) ~R*O00.
000000000000 S*'cR*O0O000.

0 4.8. 000000 g=t@p0000000000000000,00 ¢ =ta/—1pO000
0oooo0Ooooooo.
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0 4.9. 0000 SL,(R)/SO(n) 00000000000 ¢:S0(n) —GL(p) 00DOO0O00DO
O: p,(X)=9¢gXg™'. 000000,p={Xesl,(R)|'X=X}.00n=3000,

(1) X =diag(2,—1,—1) 000 SO(3).X = SO(3)/S(0(1) x O(2)) = RP2.

(2) X =diag(1,0,—1) 000 SO(3).X = SO(3)/S(0(1) x O(1) x O(1)).

0000 (1)0,000000000 RP2CcRS0000.00,S80(r) 0000 pO00000
0000000,00 100000000000000000000. 0000,RP2cC S400
0000000000, 000 Veronese 10 0000000,

43 000O0ODOOO
0000 ¢g000000000DODO. 000000 g=tep00O00.

00 4.10. 000000 aCp 0 0000 (maximal abelian) 00, 00000000:
(1) [a,a] =0,
(2)acd cpOD [@,d]=0000 a=ad".

OO00000DO0O0DOOO00OO00DOO,00000DoU0DoO0.oDog p0O0OO0O0 W, W
00000000,0000000000 ¢000000D0,0000,dg€ K : @4(Vh)="V.
o0ooo0obod e0o0bOO0OD0ODOO,00D000DO00O0OD0DOO. DO0DDOODODO.

00 4.11. pO0000O0OoOOobOObDODODODO.
00 4.12. p0000000000000,00000 OO (rank)00O0O.

0 4.13. 000 (s, (R),0(n)) 0000, a:={diag(a,...,as) a1+ ---+a, =0} 0 pODO
goooOooboogo.ogoogogd n—1.

0 4.14. 000 (o(n+1),0(n) 0000 1000.

00 411 00,0000000000D0000C0O0O00O0O0,s0D000DO00ODOODOO
googobogb.obag,

00 4.15. 0000000000 o 00000000000 aCcpO000,000000:
VXep,dHea: KX =KH (0ODOD).

000, (sl,(R),o(n)) 00000,0000000000000000000000000.

44 0O0O0O0O0O

goooboooobob,gbbdooobbbooooobob,bbooobobbooooooD.
0000000oooo000oo,000000000000000DOo00000OD. g=¢®a
gboboobog,ecpbOOnOOnOOoOOoOOOO.
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00 4.16. 0000 a:a—ROD0D, go:={Xe€g|VHea, [H X]=aH)X}0ODOO.
0000,00 a00000000000,0#000 go,#{0}0000000.00 a000O
0000 g, 000000 000.

00000 g, 00,0000 Adg:g—g:X— [H,X](00O0O Hea)OOODDODOODO
0000D00. 00000,0 HeaOOOO,Ady 000000000000000. OO
A=A(g,a) 0000« 00000000000000000,000 000000 000.

00 4.17. (1) [ga,95] C Gats, 2 9=00D > ,cne (000 0O00D0O00 OOO).

0 4.18. (sl3(R),0(3)) 0000, 0 413000 a000, g :a— R: diag(a,az,a3) — a;
(i=1,2,3)000. 0000 a00000000000 A = {&(e1—¢2), £(ea—e3), £(e1—e3) -

000000 g=tep00000,t000 p0O “OOO0DO0O0OO0”ODODOOODOOO.

00 4.19. 0000000000, 8 :={X+6X|X€gat 000 po:={X—0X|X € ga}
0oo0oO0.0ooo,

(1) 6(ga) =9-o 000. 00000 by = o, Pa=DP_a.

2) b =EN(ga ®g-a), Pa=pN(Ga D g-0a)

(2)
(3) =8 DBY opbas P=aB D 0P

goooobog,oboooboobboobbooobooag.

00 4.20. 0000 ¢ 0,0000000000000 HeaODOODOOODOOOOOOODO
0.0000,000000: &7 =8 ® Ym0 ta-

0000000,tg={Xet|[X,H=0}000000.

0 4.21. sl3(R)=0(3)@p 000000000000 OOO,
(1) H = diag(Z, —1, —1) god s EH = EO O] EEQ_ES &) E_52+53.
(2) H = diag(l,O, —1) gdd 5 EH = Eo.

00 4.22. HeaOOOODOOO 30000000:
(1) Va € A, a(H) # 0.
(2) KHOOOOOOOO.
(3) dim K.H = dimp — dima.

ooobo,00 200000000000D000O00DOOOODOOOODO,0D0DOO
00 R*=p000000 20000000000000.000,00000000000 (O
00)0000000,000000000 S'000000 1000000000000. 0
gooo,ggooooobobooobbooob,booobbooob.obobo,oooobon
00 100000000000000000000,00000000D0O0DAO.
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